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{
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int parent;
int Ichild;
int rchild;
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void Huffman(int weight[], int n, HuffNode hn[], HuffCode hc[])
{

for(i=0;1!=2%n - 1; ++i) //create Huffman Node,step 1
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for(i=0; 1 !=n-1; ++i) //create Huffman Node, step 2

{



for(j = 0; j !=n+i; j++)
{ if(hn[j].weight < minl && hn[j].parent == 0)

{}
else if(hn[j].weight < min2 && hnl[j].parent == 0)
{}else;
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int temp[maxlen];
for(i= 0; i !=n; ++i)

{
int parent = hn[i].parent;
while(hn[child].parent != 0)
{}
4. LHIRE

(1) a5 45 Huffman 2 fid i) J5i BE 5 4 05

(2) 5 Huffman it (FEADE, @S2 Huffman 265 R R B
(3) 25 Huffman SR>, 45 H SEE R v ik 25 S

(4) RN S0 ik R A8 3 1) n) 301 il ke ¥



K= EIMLBREDFNIFEALIE it

— EWHK:
L JERESC TR Y AR
2. THAEMZ I g(x) 590, PRIBRLER.
3. TRRSET d 5. AR Z IR R
4. S HT(1 3RS L HERE ST o

=, SERER.

v Gy PR EIRETF RS R E S .

S T SRS, AT R REIRE E (O RN N AR AR R .
v FBEMG Nz A AR .
VBT IR R L, AR AR EHRBEE TS LR, IR R
v IR AR

D AW N~

=, ERRITFRE
1. (PR G ) i 2
WH— (n, k) fEHE, i35 C=[Cn-1---CrCr-1:--C0], ' r=n-k. 4
SEE2UEWF
C(x)= Cn-1xn-1+Cn-2xn-2+++-C1x+CO0-
fs - A B 22 T 2 CR g (x) =gr-1xr-1gr-2xr-2+++-+g1x+g0
FEgmfdfE B2 0 m (x) =mK-1xK-1+++-+m0
xn-k.m (x) =Cn-1xn-1+--+Cn-Kxn-K
T REEEH: Cn-1=mK-1, Cn-2=mK-2, :**Cn-K=Cr=m0
BEIEE ST WIR r (x) =Cr-1Xr-1+++-+CIx+C0
RIEIEIAG I E S, WA
C (x) =xn-Km (x) +r (x) =q (x) .g(x)
Xn-Km(x)=q(x).g(x)+1(x)
r(x)=Rg(x)[xn-Km(x)]
BB 22 3 X 24 2 I xn-Km(x)BR A g(x) T 42 2.
i I R A0 A A AT AR A i 2 T 25 e vk ds SR B B 22 T R i A
BEAREA(7.3)R5 1) - 2 T Ay
C(x)=Co6x6+C5x5+C4x4+C3x3+C2x2C1x+C0

(n=7)
Az Wi g(x)=x4+x2+x+1
(ERSERUE:WoE m(x)=m2x2+m1x+m0 (k=3), i
m(X)=x2+x
itk =EATE Wik r(x)= Cr-1Xr-1+++-+C1x+C0
U RR IS 052 X s 2 R TSR 1 i R, TS0 L xne k()
FRLL g(x)1
IBHRAT 1(x)o

St FE T HE P LI 4.1 (a) 2e, — 30 22 T B & B LI 4.1(b).
2. B R



W RV AW 720, BEx)ONEREAEZ I, S) AR, NIAR
PEIAE T A
S(x)= R g(x)[R(x)]= R g(x)[E(x)]
Y R(x)=C(x)I, 1 E(x)=0, S(x)=0
M R)AAET CNF, A EX)NIAE0, SE)NIEO

111 ... &%
—
C~ x" *m(x),D<C, r=n-k g(x): 10111] 1100000 ...xm(x)
T + 10111 ... 55—
G~g(x) 11110
i Xfﬁ + 10111 ... 8%
A i =3 B=K 10010
...... &ﬁﬂ% + 10111 ... 8=
Py 2N
Y 1. n-k=r=7-3=4, A P n(x) KBHEE
B B AR S TR RS 110 BH k4 4
w C+G—~C 0, 2534 1100000
¥ |« 2. A xmx)=x"x"+x)=x"+x"B U g (x),
o * W () Fi7, BABERR r () =x+1.
= G EB—fr 3. mHAHNKREET R
C(x)=xm(x) +r (x)
l €=1100000+101=1100101
4. LR E, BEITRBER:
B<B+1
fERAL WBAr
000 0000
@ 001 0111
010 1110
...... Y 011 1001
DD 100 1011
101 1100
4 110 0101
B D B 111 0010
(@)Zi M 1T S RE P AE (b) kil 2 IRy s E E

3.1 SR v SR PP A 1 R 2 T R B
[E LU

THAERE—MR] REARA BB DR R BB EBES,
Si(x)=R g(x)[E(x)]
A EE R AL
A DB 7 2 10K R(x), TS AR ) £ Bl 2
S(x)=Rg(x)[R(x)]
R S PR AR 7 SR ) S(x) 5 A HAF Ak 1K) %% SIOAH ELBE, 2 HH P A1 <5 (AR
ANME— VLRI Si(x), $k T3 2R RS 3 B AR B(x).



4) A4 C(x)=R(x)+E(x)

I S)FRAS HME—DTRC 1) Si(x), W B, R LA T4 5 (10 B
R EIAE, RIS o VR B Z08E AR A IR 2 4 i

PR AR 4.2 Pow:

sk YIasik
v ¥
AT S8R B RE MR B H=N,i=0 G—g(\)RHLi=0,N JR{E

7 7
G—gREH WMABERAE RONAES [«

7 ¥

| C~EZEH,D0 R,C<R(x) %%

7 7
WRETFREF TRETES
3K Rew[Ei(x)] K Ry)[R(X)]

¥ R(x) T048 4 t 4%

v $
i=i+1 i=0,C=R+Ei
)
Y lY
BHTE K E(x)RE=Ei HIRANTT 2 B4R B A
Kt SRR W =T — R(x)IFHG
PR R BERE—

3.2 FIEFRER

V0. SERSERIR &
(1) 7B S5 AR G 12 A J 3 5 i
(2) GRS IEAD R, ) SEILAE D )R R
(3) gy MRS PRRE,  JF4h S g R v ARt 2 2R
(4) Sk G280 T R 3 1 ) LK% b ok g



TR HARAIHHIER

— EWHK:
1. JE IS 7GR ) A Je B
2. TRAERZ I gx) 59t PEISHISCR.

=, SEIRER.
1. g P BRIV EETIE P HE R 90 S
2. WHE A TS, R viterbi FHEIEAT IR .
3. BT A MRS R, RSP HERITS AR, FFEERE.
4, HoRBARE.

=, EREHRE
L R i L 5t B
(2,1,3) &R0 1 2 A 25 44 i 1 4-1

>
u2

GO (}1 . Gm
Go G1 ’ Gm
(}OO = [ GO (}1 . Gm ]
G, G, - G

W) o R 25 i 1 RT DL R R 2R
c=uG

‘E/E‘Ey kzly 1’1:2, m:2y }5)]"[;{:

G, =(11),G,=(10),G, = (11)
RS



11 10 11
11 10 11
G=][ 11 10 11 ]
11 10 11
11 10 11
A U= (10111), Frblf:
11 10 11
11 10 11
c=uG =[10111][ 11 10 11 ]
11 10 11
11 10 11
=(11100001100111)

MR FEEE R BCE G B AR 7

V0. SERSERIR &
(1) o] 2R 4 AP Gt 12 At L 2
(2) GBI IEAD R, S AR R R
(3) g MERSMPERE,  JF4 st R b gl 4 2R
(4) Sk G280 T R 1 S 1 ) LK% b ok g



